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2 Writing - 5
(i) Lette writing (one out of twao) 4 [3]
Informal
Formal
Emial
{ii) Short paragraph- speech or debate type, based on 4 [
outline one out of tow (80-100 words)
(iii} | Short writing task in the form of dialogue or story on 6 4
the basis of hints (80-100 words)
3 Grammar :- 10
(i) Tense 3 4
{ii) Relative pronouns 2 2
(ii} | Determiners 2 3
(iv) Prepositions 2 3
4 Text books & Supplementary Reader 10
Prose- Beehive
(i) One passage from the text book 200 words Bwsides 6 8
compresension question, lexical items should also to
be tested (200 words)
(i) Two short answer type questions out of four around 41 5
20-30 words each.
(iii} | ©ne Long answer type question (Out of two around 2% 5
80 words)
(iv) | One out of two questions on drama text (40 words) 2 3




Poetry- Beehive

(i) One out of two extracts-based on poetry from the 3 4
text to teat comprehengion and appreciation (two
question)

{ii) Two out of three short answer type questions on 3 4
interpretation of themes and ideas of the prescribed
poems (20-30 words)

(i} One out of two short answer type questions on 4 5
interpretation of themes and ideas of the preascribed
poems (80 words)
Supplementary Reader- Moments

(i) One out of two long answer type questions regarding 3 ]
character plot or situaticns occurring in the lesion.
(80 words)

{ii) Two out of four short answer type guestions (60 4 &
words)

(i} Four multiple question from lesson 3 4
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